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Exercice 0.1 ⋆⋆ Pas de titre

Calculer :

1. arcsin(sin(3π
4
)) 2. arccos(cos(2009π

3
))

Solution :

1. Comme arcsin : [−1, 1] →
[

−
π

2
,
π

2

]

, il faut déterminer le réel x ∈

[

−
π

2
,
π

2

]

tel que sinx =

sin
(

3π

4

)

. Mais sin
(

3π

4

)

= sin
(

π

2
+ π

4

)

= cos π

4
=

√

2

2
= sin

(

π

4

)

donc : arcsin(sin(3π
4
)) = π

4
.

2. On a : arccos : [−1, 1] → [0, π], donc il faut déterminer le réel x ∈ [0, π] tel que cosx =
cos(2009π

3
). Mais 2009 = 3 × 670 − 1 donc 2009π = −

π

3
[2π]. Comme cos−π

3
= cos π

3
, il

vient : arccos(cos(2009π
3

)) = π

3
.
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